

**A NEW VERSION OF HILBERT INTEGRAL INEQUALITY OF  
 THREE VARIABLES WITH HYPERBOLIC SINE FUNCTION**

NIZAR KH. AL-OUSSHOUSH

ABSTRACT. In this paper we give a new form for the Hilbert integral inequality for three variables with hyperbolic sine and cosine functions. The reverse form and equivalent forms are also obtained. The constant which we obtained is the best constant.

1. INTRODUCTION

If we assume that  $\int_0^\infty f^2(x)dx \in (0, \infty)$  and  $\int_0^\infty g^2(x)dx \in (0, \infty)$ , then the following well-known Hilbert integral inequality holds

$$\int_0^\infty \int_0^\infty \frac{f(x)g(y)}{x+y} dx dy < \pi \left( \int_0^\infty f^2(x)dx \int_0^\infty g^2(y)dy \right)^{\frac{1}{2}}, \quad (1.1)$$

where the constant  $\pi$  is the best possible (see [6]).

Quite a number of authors established various formulations of Hilbert's inequalities in discrete, integral and half discrete forms of multiple variables. For example Batbold Tserendorj and Laith Emil Azar, presented discrete [16], half discrete, and integral forms [15] given by

$$\int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x,y)g(z)}{(x+y+z)^\lambda} dx dy dz < C \left( \int_0^\infty \int_0^\infty \frac{f^p(x,y)}{(x+y)^{\lambda-2p+p\gamma+2}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{z^{\lambda-q-q\xi+1}} dz \right)^{\frac{1}{q}} \quad (1.2)$$

where  $\lambda > 0$ ,  $\xi \in (\frac{-\lambda}{p}, \frac{\lambda}{q})$ ,  $f(x, y)$  is a non-negative function defined on  $(0, \infty) \times (0, \infty)$ , and  $g(z) > 0$  on  $(0, \infty)$ . Further, the constant  $C = B(\frac{\lambda}{p} + \xi, \frac{\lambda}{q} - \xi)$  is the best possible.

---

2000 *Mathematics Subject Classification.* 26D15.

*Key words and phrases.* Hilbert's integral inequality, Hölder inequality, Hyperbolic Sine Function, Hyperbolic Cosine Function, Equivalent Forms.

©2022 Ilirias Research Institute, Prishtinë, Kosovë.

Submitted June 28, 2022. Published October 3, 2022.

Communicated by S.S. Dragomir.

In recent years, authors have continued to establish new integral forms of the Hilbert–inequality type with different new kernel functions (see [12,13]). For further results on the latter types, refer to Refs. [5],[6],[8], [9] and [11].

## 2. PRELIMINARIES AND LEMMAS

In this work, we apply the following special functions:

$$\Gamma(\varkappa) = \int_0^{\infty} t^{\varkappa-1} e^{-t} dt, \quad \varkappa > 0, \quad (2.1)$$

$$B(\delta, \sigma) = \int_0^{\infty} \frac{t^{\delta-1}}{(t+1)^{\delta+\sigma}} dt, \quad \delta, \sigma > 0. \quad (2.2)$$

Further, we make use of other useful representations for Eqs.(2.1) and (2.2) as follows:

$$\frac{1}{\omega^{\varkappa}} = \frac{1}{\Gamma(\varkappa)} \int_0^{\infty} t^{\varkappa-1} e^{-\omega t} dt. \quad (2.3)$$

$$B(\delta, \sigma) = \frac{\Gamma(\delta)\Gamma(\sigma)}{\Gamma(\delta + \sigma)} \quad (2.4)$$

$$B(\delta, \sigma) = B(\sigma, \delta). \quad (2.5)$$

Also, we will use the following inequality in several locations in this paper:

$$\cosh x \geq 1, \quad \forall x \in (-\infty, \infty). \quad (2.6)$$

Next, the following lemmas are proven:

**Lemma 2.1.** *Let  $p > 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ , and  $g(z) > 0$  on  $(0, \infty)$ . Then for  $t > 0$  and  $\vartheta < \frac{1}{p}$ , we have*

$$\int_0^{\infty} e^{-\sinh zt} g(z) dz \leq t^{\vartheta - \frac{1}{p}} \Gamma^{\frac{1}{p}}(1 - p\vartheta) \left( \int_0^{\infty} (\sinh z)^{q\vartheta} e^{-\sinh zt} g^q(z) dz \right)^{\frac{1}{q}}.$$

*Proof.* Using Hölder inequality, using the substitution  $\sinh z = \omega$ , we get

$$\begin{aligned}
 \int_0^\infty e^{-\sinh zt} g(z) dz &= \int_0^\infty \left\{ (\sinh z)^{-\vartheta} e^{-\frac{\sinh z}{p}t} \right\} \left\{ (\sinh z)^\vartheta e^{-\frac{\sinh z}{q}t} g(z) \right\} dz \\
 &\leq \left( \int_0^\infty (\sinh z)^{-p\vartheta} e^{-\sinh zt} dz \right)^{\frac{1}{p}} \left( \int_0^\infty (\sinh z)^{q\vartheta} e^{-\sinh zt} g^q(z) dz \right)^{\frac{1}{q}} \\
 &= \left( \int_0^\infty \omega^{-p\vartheta} e^{-\omega t} \frac{d\omega}{\cosh z} \right)^{\frac{1}{p}} \left( \int_0^\infty (\sinh z)^{q\vartheta} e^{-\sinh zt} g^q(z) dz \right)^{\frac{1}{q}} \\
 &\leq t^{\vartheta - \frac{1}{p}} \Gamma^{\frac{1}{p}}(1 - p\vartheta) \left( \int_0^\infty (\sinh z)^{q\vartheta} e^{-\sinh zt} g^q(z) dz \right)^{\frac{1}{q}}.
 \end{aligned}$$

□

**Lemma 2.2.** *Suppose that  $p > 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $t > 0$ ,  $\tau < \frac{2}{q}$  and  $f(x, y) > 0$  is a non-negative function defined and integrable on  $(0, \infty) \times (0, \infty)$ . As a result, we get*

$$\left( \int_0^\infty \int_0^\infty f(x, y) e^{-[\sinh x + \sinh y]t} dx dy \right)^p \leq t^{\tau q - 2} \Gamma(2 - \tau q) \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy.$$

*Proof.* Using Hölder's inequality, and making the substitutions  $\sinh y = u \sinh x$  and  $\sinh x = v$ ,  $v \geq 0$ , (to evaluate the first double integral on the right-hand-side of the inequality below), this yields

$$\begin{aligned}
 &\left( \int_0^\infty \int_0^\infty f(x, y) e^{-[\sinh x + \sinh y]t} dx dy \right)^p \\
 &= \left( \int_0^\infty \int_0^\infty \left\{ \frac{e^{-\frac{[\sinh x + \sinh y]t}{q}}}{[\sinh x + \sinh y]^\tau} dx dy \right\} \left\{ \frac{e^{-\frac{[\sinh x + \sinh y]t}{p}}}{[\sinh x + \sinh y]^{-\tau}} f(x, y) \right\} dx dy \right)^p \\
 &\leq \left( \left\{ \int_0^\infty \int_0^\infty \frac{e^{-\sinh x[1+u]t}}{(\sinh x)^{\tau q} [1+u]^{\tau q}} \left( \frac{\sinh x dv du}{(1+u) \cosh x \cosh y} \right) \right\}^{\frac{1}{q}} \left\{ \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t} f^p(x, y)}{[\sinh x + \sinh y]^{-\tau p}} dx dy \right\}^{\frac{1}{p}} \right)^p = \\
 &\left( \left\{ \int_0^\infty \int_0^\infty \frac{(\sinh x)^{1-\tau q} e^{-\sinh x[1+u]t}}{[1+u]^{\tau q+1}} \left( \frac{1}{\cosh x} \right) \left( \frac{1}{\cosh y} \right) dv du \right\}^{\frac{1}{q}} \left\{ \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t} f^p(x, y)}{[\sinh x + \sinh y]^{-\tau p}} dx dy \right\}^{\frac{1}{p}} \right)^p
 \end{aligned}$$

$$\begin{aligned}
&\leq \left( \int_0^\infty \int_0^\infty \frac{v^{1-\tau q} e^{-v[1+u]t}}{[1+u]^{\tau q+1}} \times 1 \times 1 \times dv du \right)^{\frac{p}{q}} \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy \\
&\leq \left( \int_0^\infty \int_0^\infty \frac{v e^{-vt}}{(1+u)^2} dudv \right)^{\frac{p}{q}} \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy \\
&= \left( \int_0^\infty \frac{1}{(1+u)^2} du \int_0^\infty v^{1-\tau q} e^{-vt} dv \right)^{\frac{p}{q}} \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy \\
&= t^{\tau p - 2\frac{p}{q}} \Gamma^{\frac{p}{q}}(2 - \tau q) \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy
\end{aligned}$$

□

**Remark :** Note that if  $0 < p < 1$  and  $\frac{1}{p} + \frac{1}{q} = 1$ , then by the reverse form of Hölder's inequality and the same previous method we can prove the reverse forms of the inequalities in Lemma 2.1 and Lemma 2.2 which are needed in Theorem 3.2.

### 3. MAIN RESULT

**Theorem 3.1.** Let  $p > 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $\lambda > 0$ ,  $-\frac{\lambda}{p} < \xi < \frac{\lambda}{q}$ ,  $f(x, y)$  a non-negative function defined on  $(0, \infty) \times (0, \infty)$ , and  $g(z)$  a positive function on  $(0, \infty)$ . If  $\int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda + p\xi - 2\frac{p}{q}}} dx dy < \infty$  and  $\int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda - \xi q - \frac{q}{p}}} dz < \infty$ , then

$$\begin{aligned}
\int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz &\leq C \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda + p\xi - 2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \\
&\times \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda - \xi q - \frac{q}{p}}} dz \right)^{\frac{1}{q}}, \quad (3.1)
\end{aligned}$$

where  $C = B(\frac{\lambda}{p} + \xi, \frac{\lambda}{q} - \xi)$  is the best possible. In particular:

**a)** If we take  $\lambda = \frac{3}{2}$ ,  $\xi = \frac{1}{4}$ , and  $p = q = 2$ , then (3.1) leads

$$\int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^{\frac{3}{2}}} dx dy dz \leq 2 \left( \int_0^\infty \int_0^\infty f^2(x, y) dx dy \right)^{\frac{1}{2}} \left( \int_0^\infty g^2(z) dz \right)^{\frac{1}{2}}$$

**b)** If we take  $\lambda = 2$ ,  $\xi = 0$ ,  $p = \frac{4}{3}$ ,  $q = 4$ , then (3.1) becomes

$$\int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^2} dx dy dz \leq \frac{\pi}{2} \left( \int_0^\infty \int_0^\infty \frac{f^{\frac{4}{3}}(x, y)}{[\sinh x + \sinh y]^{\frac{4}{3}}} dx dy \right)^{\frac{3}{4}} \left( \int_0^\infty \frac{g^4(z)}{(\sinh z)^{-1}} dz \right)^{\frac{1}{4}}$$

*Proof.* Let

$$\begin{aligned}
 I &= \int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz \\
 &= \frac{1}{\Gamma(\lambda)} \int_0^\infty \int_0^\infty \int_0^\infty f(x, y)g(z) \left( \int_0^\infty t^{\lambda-1} e^{-[\sinh x + \sinh y + \sinh z]t} dt \right) dx dy dz. \\
 &= \frac{1}{\Gamma(\lambda)} \int_0^\infty \left( t^{\frac{\lambda-1}{p} + \xi} \int_0^\infty \int_0^\infty f(x, y) e^{-[\sinh x + \sinh y]t} dx dy \right) \left( t^{\frac{\lambda-1}{q} - \xi} \int_0^\infty e^{-\sinh zt} g(z) dz \right) dt \\
 &\leq \frac{1}{\Gamma(\lambda)} \left( \int_0^\infty t^{\lambda-1 + \xi p} \left( \int_0^\infty \int_0^\infty f(x, y) e^{-[\sinh x + \sinh y]t} dx dy \right)^p dt \right)^{\frac{1}{p}} \\
 &\quad \times \left( \int_0^\infty t^{\lambda-1 - \xi q} \left( \int_0^\infty e^{-\sinh zt} g(z) dz \right)^q dt \right)^{\frac{1}{q}}.
 \end{aligned}$$

From Lemma 2.1 and Lemma 2.2, we obtain respectively

$$\begin{aligned}
 I &\leq \frac{1}{\Gamma(\lambda)} \left( \int_0^\infty t^{\lambda-1 + \xi p} t^{\tau p - 2\frac{p}{q}} \Gamma^{\frac{p}{q}}(2 - \tau q) \int_0^\infty \int_0^\infty \frac{e^{-[\sinh x + \sinh y]t}}{[\sinh x + \sinh y]^{-\tau p}} f^p(x, y) dx dy dt \right)^{\frac{1}{p}} \\
 &\quad \times \left( \int_0^\infty t^{\lambda-1 - \xi q} \left( t^{\vartheta - \frac{1}{p}} \Gamma^{\frac{1}{p}}(1 - p\vartheta) \left( \int_0^\infty (\sinh z)^{q\vartheta} e^{-\sinh zt} g^q(z) dz \right)^{\frac{1}{q}} \right)^q dt \right)^{\frac{1}{q}}. \\
 &\leq \frac{\Gamma^{\frac{1}{q}}(2 - \tau q) \Gamma^{\frac{1}{p}}(1 - p\vartheta)}{\Gamma(\lambda)} \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{-\tau p}} \left( \int_0^\infty t^{\lambda-1 + p\xi + \tau p - 2\frac{p}{q}} e^{-[\sinh x + \sinh y]t} dt \right) dx dy \right)^{\frac{1}{p}} \\
 &\quad \times \left( \int_0^\infty (\sinh z)^{q\vartheta} g^q(z) \left( \int_0^\infty t^{\lambda-1 - \xi q + q\vartheta - \frac{q}{p}} e^{-\sinh zt} dt \right) dz \right)^{\frac{1}{q}} \\
 &= \frac{\Gamma^{\frac{1}{q}}(2 - \tau q) \Gamma^{\frac{1}{p}}(1 - p\vartheta) \Gamma^{\frac{1}{q}}(\lambda - \xi q + q\vartheta - \frac{q}{p}) \Gamma^{\frac{1}{p}}(\lambda + \xi p + \tau p - 2\frac{p}{q})}{\Gamma(\lambda)} \\
 &\quad \times \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda + p\xi - 2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda - \xi q - \frac{q}{p}}} dz \right)^{\frac{1}{q}} \\
 &= C_{\tau, \vartheta} \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda + p\xi - 2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda - \xi q - \frac{q}{p}}} dz \right)^{\frac{1}{q}}
 \end{aligned}$$

If we set  $\tau = \frac{2-\lambda-\xi p+2\frac{p}{q}}{pq}$ , and  $\vartheta = \frac{1-\lambda+\xi q+\frac{q}{p}}{pq}$ , we obtain the proof of our main result with  $C_{\frac{2-\lambda-\xi p+2\frac{p}{q}}{pq}, \frac{1-\lambda+\xi q+\frac{q}{p}}{pq}} = C_{\tau, \vartheta} = C$ .

The next step in this paper is to show that the constant  $C$  given in (3.1) is the best possible. Let  $\varepsilon$  be a very small real number, and let us define the functions  $f_\varepsilon(x, y) = 0$ , on  $(0, a) \times (0, a)$  and  $f_\varepsilon(x, y) = (\sinh x + \sinh y)^{\frac{\lambda+p\xi-2\frac{p}{q}-\varepsilon-2}{p}}$  on  $[a, \infty) \times [a, \infty)$ , and  $g_\varepsilon(z) = 0$ , on  $(0, a)$  and  $g_\varepsilon(z) = (\sinh z)^{\frac{\lambda-\xi q-\frac{q}{p}-\varepsilon-1}{q}}$  on  $[a, \infty)$ , where  $a = \ln(1 + \sqrt{2})$ .

Suppose that  $C$  is not the best possible, then there exists a constant  $K$  where  $0 < K < C$ , and again as in Lemma 2.1, Lemma 2.2, use the substitutions  $\sinh y = u \sinh x$ ,  $\sinh x = v$ ,  $\sinh z = \omega$ , and  $h = \frac{1}{\sinh x} \leq 1, \forall x \geq a$ , such that:

$$\begin{aligned}
I &\leq K \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{(\sinh x + \sinh y)^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}} \\
&= K \left( \int_a^\infty \int_a^\infty \frac{\left[ (\sinh x + \sinh y)^{\frac{\lambda+p\xi-2\frac{p}{q}-\varepsilon-2}{p}} \right]^p}{(\sinh x + \sinh y)^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_a^\infty \frac{(\sinh z)^{\lambda-\xi q-\frac{q}{p}-\varepsilon-1}}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}} \\
&= K \left( \int_a^\infty \int_a^\infty (\sinh x + \sinh y)^{-\varepsilon-2} dx dy \right)^{\frac{1}{p}} \left( \int_a^\infty (\sinh z)^{-\varepsilon-1} dz \right)^{\frac{1}{q}} \\
&= K \left( \int_{u=hv=1}^\infty \int \left( \frac{(\sinh x)^{-\varepsilon-1} dv}{\cosh x} \right) \left( \frac{(1+u)^{-\varepsilon-2} du}{\cosh y} \right) \right)^{\frac{1}{p}} \left( \int_{\omega=1}^\infty \frac{\omega^{-\varepsilon-1} d\omega}{\cosh z} \right)^{\frac{1}{q}} \\
&< K \left( \int_h^\infty \int_1^\infty v^{-\varepsilon-1} (1+u)^{-\varepsilon-2} dv \frac{du}{\cosh x \cosh y} \right)^{\frac{1}{p}} \left( \int_1^\infty \omega^{-\varepsilon-1} d\omega \right)^{\frac{1}{q}} \\
&< K \left( \int_1^\infty v^{-\varepsilon-1} \left( \int_h^\infty u^{-\varepsilon-2} \frac{du}{\cosh x \cosh y} \right) dv \right)^{\frac{1}{p}} \left( \int_1^\infty \omega^{-\varepsilon-1} d\omega \right)^{\frac{1}{q}} = \frac{K}{(\varepsilon)^{\frac{1}{p}} (\varepsilon)^{\frac{1}{q}}} = \frac{K}{\varepsilon}.
\end{aligned}$$

On the other hand, to estimate the left-hand-side of (3.1), using  $(\cosh c)^{\frac{m}{\lambda-\varepsilon-\xi-1}} \varpi = \frac{\sinh z}{\sinh x + \sinh y}$ ,  $c > x, c > y, c > z$ ,  $\cosh c > 2^{\varepsilon+1}$ , choose  $m > 5$  such that  $\frac{(\cosh c)^{m-3} (\cosh c)^{\frac{m}{\lambda-\varepsilon-\xi-1}}}{\cosh z} > 1$ , and let  $b = \frac{(\cosh c)^{\frac{\varepsilon-\lambda+\xi+1}{q}}}{\sinh x + \sinh y}$ , we obtain:

$$I = \int_0^\infty \int_0^\infty \int_0^\infty \frac{f_\varepsilon(x, y) g_\varepsilon(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz$$

$$\begin{aligned}
 &= \int_a^\infty \int_a^\infty \int_a^\infty \frac{(\sinh x + \sinh y)^{\frac{\lambda+p\xi-2\frac{p}{q}-\epsilon-2}{p}} (\sinh z)^{\frac{\lambda-\xi q-\frac{q}{p}-\epsilon-1}{q}}}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz \\
 &= \int_a^\infty \int_a^\infty \int_a^\infty \frac{(\sinh x + \sinh y)^{\frac{\lambda}{p}+\xi-\frac{\epsilon}{p}-2} (\sinh z)^{\frac{\lambda-\epsilon}{q}-\xi-1}}{(\sinh x + \sinh y)^\lambda \left(1 + \frac{\sinh z}{\sinh x + \sinh y}\right)^\lambda} dx dy dz \\
 &= \int_a^\infty \int_a^\infty (\sinh x + \sinh y)^{\frac{\lambda}{p}+\xi-\frac{\epsilon}{p}-2-\lambda} \left( \int_a^\infty \frac{(\sinh z)^{\frac{\lambda-\epsilon}{q}-\xi-1}}{\left(1 + \frac{\sinh z}{\sinh x + \sinh y}\right)^\lambda} dz \right) dx dy \\
 &= \int_a^\infty \int_a^\infty (\sinh x + \sinh y)^{\frac{\lambda}{p}+\xi-\frac{\epsilon}{p}-2-\lambda+\frac{\lambda-\epsilon}{q}-\xi-1} \\
 &\quad \times \left( \int_b^\infty \frac{(\cosh c)^m \varpi^{\frac{\lambda-\epsilon}{q}-\xi-1}}{(1 + (\cosh c)^{\frac{\lambda-\epsilon}{q}-\xi-1} \varpi)^\lambda} \left( \frac{(\sinh x + \sinh y) (\cosh c)^{\frac{m}{q}-\xi-1}}{\cosh z} d\varpi \right) \right) dx dy \\
 &= \int_h^\infty \int_1^\infty v^{-\epsilon-2} (1+u)^{-\epsilon-2} \cosh c \left( \frac{\cosh cdv}{\cosh x} \right) \left( \frac{\sinh x \cosh c}{\cosh y} du \right) \\
 &\quad \times \left( \int_0^\infty \frac{\varpi^{\frac{\lambda-\epsilon}{q}-\xi-1}}{(1+\varpi)^\lambda} d\varpi - \int_0^b \frac{\varpi^{\frac{\lambda-\epsilon}{q}-\xi-1}}{(1+\varpi)^\lambda} d\varpi \right) \\
 &\geq \left( \int_1^\infty v^{-\epsilon-1} \left( \cosh c \int_1^\infty (1+u)^{-\epsilon-2} \frac{\cosh^2 cdu}{\cosh x \cosh y} dv \right) \right) \left( B\left(\frac{\lambda-\epsilon}{q} - \xi, \frac{\lambda}{p} + \frac{\epsilon}{q} + \xi\right) - \int_0^b \varpi^{\frac{\lambda-\epsilon}{q}-\xi-1} d\varpi \right) \\
 &\geq \frac{B\left(\frac{\lambda-\epsilon}{q} - \xi, \frac{\lambda}{p} + \frac{\epsilon}{q} + \xi\right)}{\epsilon(\epsilon+1)} - O(1).
 \end{aligned}$$

It is clear that when  $\epsilon \rightarrow 0^+$ , then from the above two estimates we lead to a contradiction, therefore, we have completely proven Theorem 3.1.  $\square$

Next, the reverse form of the inequality given in Theorem 3.1 is introduced.

**Theorem 3.2.** *Let  $0 < p < 1$ ,  $\frac{1}{p} + \frac{1}{q} = 1$ ,  $\lambda > 0$ ,  $-\frac{\lambda}{p} < \xi < \frac{\lambda}{q}$ ,  $f(x, y)$  a non-negative function defined on  $(0, \infty) \times (0, \infty)$ , and  $g(z)$  a positive function on  $(0, \infty)$ . If  $\int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy < \infty$  and  $\int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz < \infty$ , then*

$$\begin{aligned}
 \int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz &\geq C \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \\
 &\quad \times \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}} \quad (3.2)
 \end{aligned}$$

where  $C = B\left(\frac{\lambda}{p} + \xi, \frac{\lambda}{q} - \xi\right)$  is the best possible.

*Proof.* Using the reverse form of Hölder's inequality, and the same procedure as in Theorem 3.1, we obtain the proof of Theorem 3.2.  $\square$

#### 4. EQUIVALENT FORMS

In this part, we give two equivalent forms of each of our main theorems, all of them are with the best constant.

**Theorem 4.1.** *Under the conditions of theorem 1, we give the following two inequalities:*

$$\begin{aligned} & \int_0^\infty (\sinh z)^{(p-1)\lambda - p\xi - 1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^p dz \\ & \leq C^p \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda + p\xi - 2\frac{p}{q}}} dx dy \end{aligned} \quad (4.1)$$

and

$$\begin{aligned} & \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi + (q-1)\lambda - 2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^q dx dy \\ & \leq C^q \int_0^\infty (\sinh z)^{\xi q + \frac{q}{p} - \lambda} g^q(z) dz. \end{aligned} \quad (4.2)$$

*Inequalities (4.1) and (4.2) are equivalent to (3.1), also here the constants  $C^p$  and  $C^q$  are the best possible.*

*Proof.* To prove (4.2), we set

$$g(z) = (\sinh z)^{(p-1)\lambda - p\xi - 1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^{p-1}$$

so that from (3.1) one gets

$$\begin{aligned} & \int_0^\infty (\sinh z)^{(p-1)\lambda - p\xi - 1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^p dz \\ & = \int_0^\infty (\sinh z)^{(p-1)\lambda - p\xi - 1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^{p-1} dz \end{aligned}$$



$$\begin{aligned}
 & \times \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right) dz \\
 & = \int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz \\
 & \leq C \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}} \\
 & = C \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \\
 & \quad \times \left( \int_0^\infty (\sinh z)^{(p-1)\lambda-p\xi-1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^p dz \right)^{\frac{1}{q}}.
 \end{aligned}$$

By dividing the last inequality by  $\left( \int_0^\infty (\sinh z)^{(p-1)\lambda-p\xi-1} \left( \int_0^\infty \int_0^\infty \frac{f(x, y)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^p dz \right)^{\frac{1}{q}}$ , we obtain (4.1).

To show the equivalence between (3.1) and (4.2), let

$$f(x, y) = (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^{q-1}.$$

Then using (3.1), this yields

$$\begin{aligned}
 & \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^q dx dy \\
 & = \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^{q-1} \\
 & \quad \times \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right) dx dy \\
 & = \int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x, y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz \\
 & \leq C \left( \int_0^\infty \int_0^\infty \frac{f^p(x, y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy \right)^{\frac{1}{p}} \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}}
 \end{aligned}$$

$$= C \left( \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^q dx dy \right)^{\frac{1}{p}}$$

$$\times \left( \int_0^\infty \frac{g^q(z)}{(\sinh z)^{\lambda-\xi q-\frac{q}{p}}} dz \right)^{\frac{1}{q}}$$

Divide the two sides of the last inequality by

$$\left( \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right)^q dx dy \right)^{\frac{1}{p}},$$

this results in eq.(4.2).

Moreover, from Hölder's inequality and (4.2), one arrives at

$$\int_0^\infty \int_0^\infty \int_0^\infty \frac{f(x,y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy dz = \int_0^\infty \int_0^\infty \left( (\sinh x + \sinh y)^{\frac{-[q\xi+(q-1)\lambda-2]}{q}} f(x,y) \right)$$

$$\times \left( (\sinh x + \sinh y)^{\frac{[q\xi+(q-1)\lambda-2]}{q}} \int_0^\infty \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dz \right) dx dy$$

$$\leq \left( \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} f^p(x,y) dx dy \right)^{\frac{1}{p}}$$

$$\times \left( \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} \left( \int_0^\infty \frac{g(z)}{(\frac{1}{x} + \frac{1}{y} + \frac{1}{z})^\lambda} dz \right)^q dx dy \right)^{\frac{1}{q}}$$

$$\leq \left( \int_0^\infty \int_0^\infty (\sinh x + \sinh y)^{q\xi+(q-1)\lambda-2} f^p(x,y) dx dy \right)^{\frac{1}{p}} \left( C^q \int_0^\infty (\sinh z)^{-\lambda+\xi q+\frac{q}{p}} q(z) dz \right)^{\frac{1}{q}}.$$

By this, the equivalence between (4.2) and (3.1) has been proven. The constants are the best possible as in (3.1). The theorem is proved.  $\square$

**Theorem 4.2.** *Under the same conditions as in Theorem 3.2, we obtain:*

$$\int_0^\infty \sinh z^{p\xi+(p-1)\lambda-1} \left( \int_0^\infty \int_0^\infty \frac{f(x,y)g(z)}{(\sinh x + \sinh y + \sinh z)^\lambda} dx dy \right)^p dz$$

$$\geq C^p \int_0^\infty \int_0^\infty \frac{f^p(x,y)}{[\sinh x + \sinh y]^{\lambda+p\xi-2\frac{p}{q}}} dx dy, \quad (4.3)$$

and

$$\begin{aligned} & \int_0^{\infty} \int_0^{\infty} (\sinh x + \sinh y)^{q\xi + (q-1)\lambda - 2} \left( \int_0^{\infty} \frac{g(z)}{(\sinh x + \sinh y + \sinh z)^{\lambda}} dz \right)^q dx dy \\ & \geq C^q \int_0^{\infty} (\sinh z)^{\xi q + \frac{q}{p} - \lambda} g^q(z) dz, \end{aligned} \quad (4.4)$$

where the constants here  $C^p = B^p(\frac{\lambda}{p} + \xi, \frac{\lambda}{q} - \xi)$  and  $C^q = B^q(\frac{\lambda}{p} + \xi, \frac{\lambda}{q} - \xi)$  are the best possible..

*Proof.* Since the method of proof of the above inequalities is the same as that of the method in Theorem 4.1, we leave it for the reader.  $\square$

**Acknowledgments.** The authors would like to thank the anonymous referee for his/her comments that helped us improve this article.

#### REFERENCES

- [1] Alois Kufner, L. Maligranda, L.E. Persson, *The Hardy inequality –About its history and some related results*, Vydavatelský servis, Pilsen, 2007.
- [2] Alois Kufner, L. Maligranda, L.E. Persson, *The prehistory of the Hardy inequality*, Amer. Math. Monthly, 113(2006), 715-732.
- [3] Becheng Yang, *The norm of operator and Hilbert-Type Inequalities*, science press, Beijing, China(2009).
- [4] Becheng Yang, T.M. Rassias, *On the way of weight coefficients and research for the Hilbert-type inequalities*, Math. Inequal. Appl. 6 (2003), 625-658.
- [5] Godfrey Harold Hardy, J.E. Littlewood, G. Polya, “*Inequalities*”, Cambridge Univ. Press, London, 1952.
- [6] Hardy, G.H., Littlewood, J.E., Polya, G. *Inequalities*; Cambridge University Press: Cambridge, MA, USA, 1934.
- [7] Laith E.Azar, *Tow new forms of Hilbert integral inequality*, Math. Inequal. Appl. 17(2014).
- [8] Mario Krnić, *A refined discrete Hilbert inequality via the Hermite-Hadamard inequality*, Comput. Math. Appl. 63 (2012), 1587-1596.
- [9] Mario Krnic, G. Mingzhe, J. Pecaric, G. Xuemei, *On the best constant in Hilbert’s inequality*, Math.Inequal.Appl. 8(2), pp.317-329, 2005.
- [10] Mario Krnić, J. Pecarić, *Extension of Hilbert’s inequality*, J. Math. Anal. Appl. 324 (2006), 150-160.
- [11] Mario Krnić, J. Pecarić, *General Hilbert’s and Hardy’s inequalities*, Math. Inequal. Appl. 8 (2005), 29-52.
- [12] Michael Th. Rassias, Bicheng Yang, and Andrei Raigorodskii, *A Hilbert-Type Integral Inequality in the Whole Plane Related to the ArcTangent Function*, Symmetry 2021,13, 351.
- [13] Minghui You, Yue Gua, *On A Hilbert-Type Integral Inequality with Non- Homogenous Kernel of Mixed Hyperbolic Funcions*.
- [14] Nizar Kh. Al-Oushoush, L.E. Azar, Ahmad H.A. Bataineh, *A Sharper Form of Half-Discrete Hilbert Inequality Related to Hardy Inequality*, Filomat,32:19 (2018), 6733-6740.
- [15] Tserendorj Bathbold, Laith E.Azar, *A new form of Hilbert Integral inequality*,V. 12, N 2 (2018), pp.379-390
- [16] Tserendorj Bathbold, Laith E.Azar, *Discrete analogues of Hilbert integral inequalities for three variables*, Journal of Inequalities and Special function,V.9, No.2018, pp66-76.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, AL -BALQA APPLIED UNIVERSITY, P.O.BOX 19117, SALT, JORDAN

*E-mail address:* aloushoush@bau.edu.jo